AMERICAN RANGE
NAME PLATE

@@

ORIFICE HOOD

AIR SHUTTER

PILOT TIP ASSY

TOGGLE SWITCH

SPINDLE

THUMB SCREW

SPIT SOCKET

GEAR MOTOR

=

BEARING

DUAL GEAR

DESIGHED & BUILT IN LSA

AMERICA Nm RANGE




AMERICAN RANGE
NAME PLATE

SAFETY VALVE

ORIFICE HOOD

@@

AIR SHUTTER

PILOT TIP ASSY

TOGGLE SWITCH

SPINDLE

THUMB SCREW

SPIT SOCKET

GEAR MOTOR

=

BEARING

DUAL GEAR

DESIGNED & BUILT IN USA

AMERIIJIN&RANEE ‘




ACB-7 & ACB-14

ITEM NO. PART NO. DESCRIPTION
1 A20006 Box, Electric 4-1/2" OCT, w/Back 10459
2 A20000 Socket, Light Porcelain Base 10445 M/MSD/ACB Series
3 A20016 Bulb Flood 65 Watt ACB 10444
4 A27001 Glass, Clear Tempered ACB 10479 1/4" x 8" x 8"
5 A38000 Name Plate, American Range 8" 10499 Quality Commercial Chrome
6 A44003 Nut, Speed #6 Push Black 10601
7 A11111 Thermocouple, 36" ACB 10494
8 A80105 Valve, Gas Safety ACB 10433
9 A32103 Handle, Side Door ACB
A29024 Hood, Orifice #37 1/2" Brass Nat Gas
10 A29005 Hood, Orifice #55 1/2" Brass LPG Gas
11 A14036 Air Shutter, 1" ARRB, ARKB, ACB
1A A40019 Venturi, Burner ACB Black Pipe
12 A14043 Burner, Assembly 35K BTU ACB 10102
A11136 Pilot, Assembly .18 Nat Gas Rt Side w/Bracket ACB
A11135 Pilot, Assembly .18 Nat Gas Lt Side w/Bracket ACB
A11143 Pilot, Assembly .10 LPG Gas Rt Side w/Bracket ACB
13 A11144 Pilot, Assembly .10 LPG Gas Lt Side w/Bracket ACB
A11123 Shield, Pilot Cover Heavy Duty Stainless ACB
A29207 Pilot Tip Assembly, ACB 10246 Pre 2007
14 A80110 Valve, Pressure Regulator 3/4" 10480 Nat Gas Set 5.
A80011 Valve, Pressure Regulator 3/4" 10481 LPG Gas Set 10.0
15 A27004 Roller Guide, Door Slide ACB 10513
16 A35001 Leg, 6" Cone 3" Adjustable Bullet Chrome Plated NSF
A35015 Caster, 4" Swivel Plate Mount w/Brake NSF AR, AGBU, ACB
17 A35014 Caster, 4" Mount No Brake NSF
A35102 Caster, Set (4) 4" Swivel 2/w Brakes 300 Ib. Load AR, AGBU, ACB
18 A10014 Switch, Toggle On/Off 115V 10417
24 A32101 Handle, Glass Door ACB-4, 7, 14 10426
A31100 Spit, ACB 4/7/14 Complete Assy All Heavy Duty Stainless Steel
A32120 Handle, ACB-7/14 (New Style) No Slip Grip 3/8-16 Brass Insert
A43024 Spindle, ACB Spit Rod New Style 304 Stainless Steel
25 A31015 Spit Fork, ACB Single 2 Prong 10497 304 Stainless Steel
A31016 Spit Fork, ACB Double 2 Prong 10498 304 Stainless Steel
A42118 Screw, Thumb ACB 10609 Old Style
26 A27009 Door, ACB-14 Glass Clear Tempered with Stainless Frame & Handle Rt
A27010 Door, ACB-14 Glass Clear Tempered with Stainless Frame & Handle Lt
07 A27007 Glass Top/Bottom ACB 7-14 Door Insert for Framed Door
A27003 Glass, Clear Tempered ACB 1/4" X 18" X 53-3/4" All Glass Door
29 A40004 Socket, Spit Assembly, ACB-7/14 10606
A40009 Socket, Spit Mounting ACB-7/14
30 A52901 Brick, Fire 4-1/2" x 9" x 1-1/4" 10430 Split
31 A91001 Motor, Gear ACB-7/14 120V 10410-1 Spec. Output Shaft
32 A40005 Bearing, High Heat Flange 3/4" 10429 Bore w/3 Set Screws
33 A40000 Sprocket, Double 28T Heavy Duty 10517 3/4" Bore w/Screws
34 A43102 Chain, Pre-stretched ACB 10518

DESIGNED & BUILT IN USA

FACPEREIEAAL CEIEIRE BALIFBERT |

AMERICA Nm RANGE




